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1 &7 FCH>Ah bk 9 2
1 FH Z=RFCOB 9 1
3 EE g9F7LUE 4
4 FE Z=ERBFCOB 3 2
6 F DE EM50 2
4 Fit 5| FCH>ho b 3
6 HE BHF =7 2
6 gLl FCH->Ah bk 2
6 NEI)L EFEF 050 2
6 = BHF =7 2
6 WA RILR=)L 2 1
6 TR FCH>Ah bk 2 1
15 3] gF7LUE 1
6 O 7 EFC50 2
15 ¥i& RILRZ)L 1
15 un | FCH->h 2k 1
15 B HDFLUA 1
6 p/ FCH->Ah bk 2
15 f2H DTF7 LA 1
15 WA A EJL2nd 1
15 iR A EJL2nd 1
15 = D= HEM50 1
15 1t B HrEFC50 1
15 B 7 EFC50 1
15 NI Z=RFCOB 1 1
15 EX Z=RFCOB 1 1
15 i RILR=)L 1 1
15 #® RILRZ)L 1 1
15 LIPS FCH->Ah 2 bk 1
15 T HF RILR=)L 1
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